RIELLO ELETTRONICA

Wiriello ups

Di852 Issue 5
Rack Guide installation instructions

Contents

(a) 4 Galvanized support brackets (2 off LHS and 2 off RHS)

(b) 2 Galvanized centre support brackets (1 LHS & 1 RHS)

(c) 2 Galvanized slotted centre brackets for use with 800/1000 Rack
(d) 2 Galvanized slotted centre brackets for use with 600 Rack.

(e) 8 M6 Caged nuts

(f) 8 M6 x 12 Bolts + 12 M5 x 12 Bolts/Washers

(g) 12 M5 nuts

Fig1
Parts included in kit

Riello UPS Ltd - UK subsidiary of Riello RPS S.p.A

U50 Clywedog Road North, Wrexham Industrial Estate, Wrexham, LL13 9XN

Switchboard: +44-(0)1978 729 297 - Sales: (UK) 0800 269 394 - Fax: +44-(0)1978 729 290
Service: +44-(0)1978 729 281 - Fax: +44-(0)1978 729 291 - Website: www.riello-ups.co.uk Page 1 of 2
Registered in England and Wales 4582458

y .
ontry
of 'S
Tez7) (HA
LC 8 b BT

ccroaned Ceovacis

[

Constructionline

v

Official
Sponsor



RIELLO ELETTRONICA

Wiriello ups

Installation instructions

1) Select the correct centre bracket (c or d) to suit the rack being used.
The longer centre bracket (c) will suit 800 to 1000 mm racks,
The shorter centre bracket (d) is for 600 to 800mm racks

2) Insert the supplied cage nuts into an appropriate position on the rack vertical supports. Care should
be taken to ensure correct location of the cage nuts thus allowing correct alignment of the UPS or
battery pack front securing screws. Selecting an incorrect pitch will result in the front mounting holes
being misaligned on the front of the rack

3) Using 8 supplied M6 Bolts (2 per support), loosely attach the four support brackets (a) into the rack.
See fig 2 below.

-oF-the-2rt, Rack-Hount Screen Technology ‘ 593572‘45907

Fig 2 Fig 3

4) Use the 12 M5 bolts together with the M5 nuts (6 per side) to attach the appropriate centre
brackets (c or d) between the support brackets (a). The centre bracket should be assembled on the
outside of the support brackets. There is an additional centre support bracket (b) included in the kit if
additional support is needed. See fig 3.

5) Tighten all nuts and bolts. Trial fit the UPS or battery box into the rack. Ensure the front support
brackets align correctly. If the front panel holes are out of alignment, it will be necessary to raise or
lower the support slides to align to the correct “U” position.

Riello UPS Ltd - UK subsidiary of Riello RPS S.p.A . G& ‘ < O Ofﬂmal
U50 Clywedog Road North, Wrexham Industrial Estate, Wrexham, LL13 9XN e uxas Moo vl A / Constructlonlme ’ Sponsor
Switchboard: +44-(0)1978 729 297 - Sales: (UK) 0800 269 394 - Fax: +44-(0)1978 729 290 ' S

Service: +44-(0)1978 729 281 - Fax: +44-(0)1978 729 291 - Website: www.riello-ups.co.uk Page 2 of 2

Registered in England and Wales 4582458




